FEIEWMAT/MhFEARE EFREEHERO MyrEHE hIR{E—
FHE MATELHREHEO BREEEIR RIRIE—
BEENE hIR{E—
[BER] FRk26E5A17H (L) - RERER - L EEEg
[EERAK] WARELRZBS RIFLER—ER
X F [FEH35) BHARTRIgAE
1L 24 31 4 {4 5 fif 6 {iL 7% 8 i
A/8 BB B K& TR i BERFGE i BERFGE i BEERGE i BERFGE i BRESFE i BRESFE i BRESFE 2 &
51T [INFAFERF LR e (4) 5.9 EAER @D 15. 921 E E4c (D) 6. 19 F #.5 (4) 16. 45 A0 =HE @) 16. 55 Z ik 2k (4) 16.65 =t B3I @4) 76. 69 0 == (4 16.92
100m 1y MEH FN RE 1y MR 1y MR FN 1y MEH i/
5/11 A FiR (4) 3:59.00 E3H #AF (4) 4:01. 40 ¥[8 E#! @) 4:03. 73 /'E)Il @) 4:15.12\5%# RA ) 4:31.19 1848 £+ 4) 4:39. 37
1000m EH/ - Wy hEE U AR/ EK
5/17 L% EE&E @) 2.89(-0.3) 1B KL (42.57(+0.2) FHiR HkEE@) 2.49(-0.6) H[F ZE(4) 2.27(-0.5)
FENEBE i/ 1y MR Wy MR 1y MR
5/17 [INE S &E&XF RO 14.371 &R =k (5) 15. 78 # & F = (5) 16.04 2R &2 (5) 16.30 Fh#t 3EZE (5) 16.58 F3# %5 (5) 17.08 #HEAEE(5) 17.22| Ky B% (5) 17.28
100m E N 1y MR FN 9937 HEET /]y RREE /D BABA/I AR/
5/11 RiE m06) 3:33. 78|85 K & (5) 3:40.87|B% & (5) 3:47.37//hh EB (5) 3:54.68 Arh %3 (5) 3:56.09| A #FZ=(5) 3:56. 46
1000m AR/ A/ 9937 ik 2\ HJI/N 1y MR
5/17 +2. 35K ME(5) 16.59 LR EBE(5) 19. 27
80mH SHN BABA/I
5/11 HT K0 1.05
E= Bk SR/
5/17 EIR EIEO5) 15.50
YR - % JEET /]
5/17 |INE 6 FXF NG E1E(6) 14.12 7% BE%X(6) 14. 66| {FE & (6) 14.93 XA EBZ%(6) 15.08 £H E3(6) 15. 19 1B K # (6) 15.21 KB &% (6) Ay MEH 15.55
100m 2y bR HE 1y MR AR/ 1y MR fz 3521\ 1y MR Rk KE (6) Ay MEH
5/17 IR AR (6) 3:22.76|/p#k S HBK(6) 3:46.29| 41 L£ & (6) 3:56.49
1000m FN SRHE /N AR/
5/11 +2.35H# #HE(6) 17. 42| Fg w43 =10 (6) 17.66 J\A #BHZ (6) 18.52|)\'& 8E (6) 21.94
80mH JEET /]y BABA/I KE)IIN KE)IIN
5/117 N FEGB) 3.62(-0.4) XA £E(B6) 3.19(+1.6) &hFE V&Y (6)3.02(-1.0)
FENEBE EHEIIJ\ Wy MR —FIh
5/17 |\pZERF AF #Q) 12.76 E33 =#1(3) 12.77 Bk §#1E () 12.82 &Il X Q) 12.89 fHF4 #7E () 1312|580 Bx (@) 13.14 %80 4 E (1) RHEG 13.22
100m %ﬂ:ﬂ:th 28dbe 28 Ft B A fhE% HERT hi FAEQ) RHEF
5/11 it KB (2) 2:19.58| &% #Ex(2) 2:20.68|)I| £ HEF(3) 2:25.09 #2H & (2) 2:27.61|=% 1£F](3) 2:31.31/4@ #3%E0) 2:32.69|/MB Bt (2) 2:34.51/[RA F#(2) 2:34.81
800m F732:223] e 1A fhEE BAR EHG BEEH EHG
5/17 #E BARZE @) 11:33.13 fRIE FER(2) 11:56.70 LA EfEQ)  12:27.90 AL BA ()  12:28.69 EM 1% (2)  13:01.67
3000m fhE% A/ A ghEE FtBAA S8R
5/11 MO FiELE Q) 16.17| L& D& (2) 16.66 FH EZXE Q) 16.96 iR & (2) 17.96 %%k K Q) 18.59 FEi% BARE (2) 18.62 =48 Mm% (2) 18.65 A EHiE(3) 18. 66
100mH (0. 762m) ERGES gk 28 KA ERGES EHg E8AH JEEH
5/17 a0 BE(Q) 1.35%i0 BEAL(3) 1.35| L8 ®Z=(3) 1.30/ A #(2) 1.30| 2K EH#E(3) JEEh 1.25 E1E &5 H () 1.25
E = 5L ERLES B A R B BT Hh wmE HmY Q) il =
F& RIE (3) KEF )| e jcsh. [=R=X0)
EH
5/11 wA BREQ) 5.07(+1.7) ®I BESH () 4.84(+0.6) K tiE(Q) 4.63(+0.4) Fi M) 4.55(+2.4) &4 £EQ) 4.39(+1.9) WA EE(Q) 4.34(+1.9) RA =Z&X(34.22(+0.8) [ &3 7 (24.11(+2.5)
FENEBE 2 ety E8RH ERGES 1A B A fhE%h HEE S
5/11 #E % () 10.09 %t & Q) 9.51 Wik &2 8.45 IUKX EXE®Q) 8.32 /ME HK Q) 8.20 #H)Il =+H (3) 8.19 #%:ZE #£0Q) 8.18 Lig & (2) 8.10
fafhix JBET gk Bk h JBET 2 S8R ety NS gk h
5/17 2Rt W) 49.61 gkEgrh 51. 74| %At 52. 71| &% 54.23 FEEEH 54. 29| fE BT ch 55. 02| &7k (A) 55. 13 Bt @ HAAh (A) 55. 26
4 x100m AR BRE (3) LiE 0H(2) iR @& (2) IR BE(3) & BH%EQ) hHE #(2) 5 &Q) O BHARQ)
B =43 iF4 BIEQ) hi FAEQ) T BEHAE Q) B B (3) % %A (3) 5 B (3) =l EKQ)
ik #1E (3) JNFH EW Q) =@ &#@O) K #< (3) =0 #3) MHA 6EEQ2) tERK #1E(Q2) NE BEZ Q)
A+ % Q) ZH =Z5K£0Q) Fik L2 R FEQ) L 6)) Ik EBQ) HFLE EEQ) ha FFQ)
5/17 [INE&RF Wy MEHE (A) 59. 39| ZF/]h 1:00. 69 |F 1l/1h 1:01. 19 7&K/ (B) 1:01. 69 FAZAAER/ 1:02. 63| BHEA/N 1:04. 31818/ (A) 1:04.40¥2Y9457° 1:06.13
4 x100m XA tE6) BE Z%(6) INEREF(6) BE XA 6) 1RiZ i (6) [& B & (6) it f&TE (5) 1K &FXE0)
#iEkE BE%6) wWH £ZE(5) JEA HEKE (6) #E =i 6) 4 #ETHE(6) EH EFRE6) hF 5 (6) MO BRE®G)
KA ZE#H©6) B % (6) 25 BE6) WE $3%(6) FiE f53 (6) hERRE(5) ERE 2 (6) K B 06)
XA B=®) IR RE(6) Hik HIE(6) P =X (6) FIE & (6) il S8R 6) FiE METE (6) 2R B8 (5)




FER FR2655A178 (1)

FSYOER - P R - FRM - [RE] - ERR

(BF - [=F])

fEt42 [20] B4 SBIEWAT/INhEERE LSRR ES 1-b [1420557] M9IEHIE SDEE—
BHEISE ERATLEEAE 1-F  [201020]  ER8RE4E . EEREH
[ _ ] [ _ ] [ _ ] [ _ ]
& H A/B| # | BiR |5 HEESA i B8 | mpEdA i B 8 |y mpEdA i B 8% |47 2 BRES i 0 %
NFAFELET | o/17] 188 0.4] 1 BAZER @) 15. 92| 2 /&2 Bt (4) 16.19] Bl BEE@® 16.92] 478 tEE® 17.01
100m FEN SEEN zP]THN EEH
53t E® @) 17.83| 6 KF*)I ZD#H(4) 18.14| 7 HE £E®) 18.40| ¥t #4&E @) x5
1y MNEHE S/ sEIKI 1y MNEHE
2% +0.1]| 1 B2 Bm& @) 16.45| 2 &t @& @) 6. 69| 3 EM=TE (4) 17.32] 4 BR %R @ 17.51
| Ay MEH Ay MEH I FRE/N
5 Eih F1k(4) 17.53| 6 In& /Nl (@) 17.55| 7 X XK @) 17.90| 8 &&E BAE &) 18.01
1299937 A ARE /N BB sk
378 +0. 3| 1 dtT® wEa (@) 15.91| 2 Fik2nk (4 16.65| 3 &= L= @) 17.26] 470 e @ 17.42
Ay HEA FEN S B
5 £ BE®@) 17.64| 6 iR BAE@® 18.50| HAF BE®@) x5
Y5937 Ay HEHA SE /N
2.4 1 AL =Bx @) 16.55| 2 JEfas 4 T7.53| 3 K =5l (4) 18. 43| 4 AL Fiz (@) 18.84
Ay HEA FEN 57 FREE/N
5NE BE @) 19.26| 6 F#t Hi @) 19.34] HE EEO x5
Ay hEHA A ARE /N BB
INEAERF | 5/17 TRDODFRG® 3:59.00[ 2 BF Mms @) 01 40[ IH@E ER@) 0373 4 E]T 2@ 415,12
1000m . B FRAE /1N 14y MK H FRAE /1N
5 %A EAWG 4:31.19| 6 184 E£F+ @) 4:39.37
AR AR/ EKD
INES LT | /17| 138 +1.6| 1| EHmMRK (O) 1437 2 &ZEFE0O) 16.04| 3 EAF E=0) 17.08] 4 EEHAEE (5) 17.22
100m FEIN E FRAE /1N BB/
5 Ay B (D) 17.28| 6 #L EXxOG) 17.34 TEHE aHkG) 18.62
A ARE /N BeBE /I AR/
S RIBIE-ETI0) 5. 78] 2|BR BE () 16.30[ 3 # Ex O 16.58] 4 % () 17.31
Ay HEA 57 JERT /N FEN
5 REE B0 17.33| 6/ L BEF6) 18.05| 7@ %EOG) 18.18
AR AR/ BABA /I
INEBELZTF | 5/17 2 iZE H(O) 333 78] S BA E(O) 3740.87| 5 BHZ =) 34737 6 /M0 EA () 3:54.68
1000m AR A/ /N Y57 EiZ; D\
7/BH £3%E(5) 3:56.09| 8 @ HZE D) 3:56. 46
11/ Wy bEH
NESELT | 5/17 +2 3] 138K "FEG) 16.59] 2[R ZEWE () 19.27
80mH 53 BEBR /I
NFE6&FELTF | 5/17| 148 +0.5[ 1 FiE A% 6) T4.66] 2 AH &% (6) 15.55| 2 ik &% (6) 15.55| 4%+ 1@Ju= (6) 15. 64
100m Wy MEHE Wy MEHE Wy MEHE AR ARER/
5 FE EE ) 15.68| 6 &#t #kiE (6) 16. 11| 78 =8 ©) 16.15| 8 BEE D (6) 16.16
. BBE/N SRE /N EEH FEN
9| & EZ(6) 16. 85
SRE/D
2% +3.2| 1 /N E B=AE (6) T4 12| 2384 i (6) 5.21| 3 NAEET (6) 15.67| 4 35:E A ©6) 15.79
| Wy MK E Ay HEA FEN FAA AR/
5| KA EE6) 16.39] 6 EE WA (6) 16.53| 7 ##a ZEE (6) 16. 64| 8 #2E FAF (6) 16.67
Ay HEA S A1/ JERT /N
9| TF i ®6) 17.58
R/




FER FR2655A178 (1)

FSYOER - P R - FRM - [RE] - ERR

(BF - [=F])

fEt42 [20] B4 SBIEWAT/INhEERE LSRR ES 1-b [1420557] M9IEHIE SDEE—
BRiIgS BENAELREAE 1-F  [201020]  ER8RE4E . EEREH
[ _ ] [ _ ] [ _ ] [ _ ]
& H A/B| # | BiR |5 HEESA i B8 |y  mpEA i B8 |y mpEdA i B 8% |47 2 BERES i i %
3%E[ +2. 1| 1|REE 58 (6) 1493 27 KA BZ 6 15.08] 3/ZH =2 (6) 15.19] 4TKB =& ©) 15. 63
AR ARER/ Wy MEHE SRE/ND Wy MEHE
5 ZfE =K (6) 16.08| 6 & (B3 (6) 16. 21| 7 %Rk 8A%] (6) 16.42| 'EH#E ¥ 6) \ x5
Ay hEMA A A/ JERT /N Y9937
INEGEEE | 5/17 ENEERG) 3:22.76| 2 Nk = SEE(6) 3:46.29| 3 ME Z(6) 35649 HE BE®) x5
1000m FEIN _ /N HAA AR/ BeBE /I
NE6&ELZT | 5/17 +2.3| 2 53 = (6) 17. 42| 3| Fer £ =1 (6) 17.66] 4//\H &= (6) 18.52] 6/ /\FF &= (6) 21.94
80mH . JERT /N BB/ KE 1/ KE 1/
EE HER6) x5
JERT /N
EEE %2 5/T7| 178 +0.9] 1 faQ &= (1) 1322 2 KB =&% Q) 13.27| 3 ER mAe (1) 480 45 E&EQ 14.52
100m JRE $hEE b W53 e E8F
5 KE #HEQ 1491 6L FH=) 15.86| 7 FH BEFE (2 16.39] /B E=#H () x5
SR Bt B AR A ¥l EoE A
278 1.9 1 FE BAEQ) 13.38] 21ER K BiE D) 14.26] 3 EF Q) T4.33[ 4 KA Q) 15.30
25tk 557K e R il
5EE £82(2) 15.51| 6 BE =45 (1) 16.24| 7 7 FEEM 16.61| 8 £/ &FEQ) 16. 82
B AL 153 e M@ A #I$
SFA[ +2. 1| 1 EFEE &1t (3) 312 2 =@ BB Q) 13.76| 3 &R Z&E () 1451 40 AI=F Q) 14.54
R b JEH e $HET
5 R B3R (D) 14.70| 6 @ ZE®) 15.39| 7 #8iZ =R (2 15.72] Z&E H=) x5
H/ A Bt A (370 e 254k
IH -2 3[ 1R s ) 1393 2 FF &@Q) 1304 3K ZF Q) 474 428 @) 14.69
pidles 557K e Bt R SR
5l FE ) 15.63| 6 79 #hr (1) 15.66| EZF uAEmM ) x®&E| EA WA Q) x5
Mt B A 153 e 28 =
5% 2. 1| 1 =) B& (3) 12.89 2 &80 ER(3) 1374 3|k BE®) 13,95 4 08 21t Q) 14.69
Mt B AR HEEEH EHmh #$
5dE &) 15.08| 6 3R &2 15. 24 T2 & () 15.62
[t B AR e $hEEh 153 e
64 “0.5| 1 Mk B O 13.23] 211113 B Q) 14.02[ 3=Q Q) T4.76] 4 & =& Q) 14,72
| 28t R b EEEH E8F
5F# =102 1541 6 %8 REEM 15,54 7 &% & (1) 16.47
3D eh Bt B AR A N
THE +2.3[ 1 BE 54E 3) 12.82[ 2/ & BEQ) 13.84] 3 28 ZEQ) 474 §#ZE o0 Q) 15.05
| 8t HEEEH W53 s e
5 %M@ &) 15.29| 6 &4 (2 18.04] HL #x% (2) x5
mEf 557K e Bt B AR A
SFH| +2. 4| 1| H FZEQ) 1322 2 8 BRQ) 3. 72| 3 B Q) 13.83 4 &Il EE Q) 1415
pidles 557K e 25tk =i
5/ KMH BREQ2) 14.44| 6 &)l BER ) 16.07| 7MHE EEEM 16.59
EBRIEES 133 e M@ A
OfE| +1.3| 1 B3 ZEHL Q) 2.77| 2 BF B YEQ) 4. 67| 3 FE EQ) 469 4 FIBEEA ) 14.73
25k {EBAH 557K e R
5% mBZEQ 15.20| 6 B&:8 B®xE (2 15.46| TXKH B& Q2 15.97
Bt B AR A H/ A b da




FER FR2655A178 (1)

FSYOER - P R - FRM - [RE] - ERR

(BF - [=F])

fEt42 [20] B4 SBIEWAT/INhEERE LSRR ES 1-b [1420557] M9IEHIE SDEE—
BRiIgS BENAELREAE 1-F  [201020]  ER8RE4E . EEREH
IiE ~ ] IiE ~ ] IiE ~ ] [ _ ]
& H A/B| # | BiR |5 HEESA i B 8% |47 2 HBRES i B8 |ty mpEdA i B 8% |47 2 BRES i i %
1048 +1. 1] T|AH & Q) 12.76] 2 kK BZEQ) 13.64] 3 AF &g Q) 212 48 FmQ) 4. 72
8t EHmh HEEEH M@ A
5|2 T Q) 15.89| 6 B E£H Q) 1589 ®UIl E#L (2 x5
A/ N EBRIEES REFH
T1%8] —2.3| 1 &k W1E (2) 1367 2 BR & Q) 13.74] 3]0 BA Q) T4 38| 4 3% 070 (3) 14,42
JRE EEEH M@ AR g W53 e
5 X FXKQ2) 15.50| 6 A %) 15.75| 7 &HE3 EK (2 16. 02
REFH 28 EKe
EEE %2 5/T7| 138 TITE EEQ) 224763 2 hE E= Q) 274197 3 =@ mEQ© 248 T4 AT KaT BE Q) 3:00. 21
800m IpuLss 28t EHEG F/ AW
5/A ExXEA) 3:03.56| 6 &% @It Q) 3:04.34] 7Lk FHE) 3:13.86| /ML HBIZA) x5
Mt B A REFH [t B AR e EKe
2% T[TE #F Q) 2:25.00 2 &K HEQ) 7:34. 83| 3 HE BT (2) 2:42. 37 4 NEA BF () 24410
| W53 s B AR R oh ] HEFH
51 &F 2 3:00.62| 6 EE #%E (2 3:06.81| 78 RERED 3:28.96] L£H HIHQ) x5
A/ N JEET [t B AR e 28
K T#EH &2 2:27.61| 2/®E TEBQ) 2:34.81| 3 =H BB Q) 247 14 4 E 210 2:45 41
R b EHmh JEHE 8
5 BEQ) 2:47.52| 6 &5 5 Q) 3:06.52| L OHhB Q) RE| HmA ERO x5
RGBS (L1370 e SR Bt B AR A
PE) T=E# &F Q) 2:31.37[ 2 %EH BEQ) 2:32.69| 3 &K RE () 2:45 44| 4 F1H E% Q) 2:46. 68
B AL EHmh et FEKe
S5NE 55 (2) 2:48. 19| 68K FXE 2 2:58.09| 7 /hEk BE (D) 3:03.93| 8T FHE) 3:31.67
REFH A/ AF 28 M@ A
5%8 THF RE (2 7:19.58| 2 EiE &= Q) 7:40.50| 3 =& B2 Q) 2747 83 4B H<THQ) 2:44. 3%
R b = i o EHmh NS
5L £HZ Q) 2:45 41| 6 &8 22 2:48.33| 1 BH BF Q) 3:01.50] [& &®) x5
&g 28 REFH M@ A
6% Te% fmk Q) 2:20.63] 2 /NE B/ (2 234 51| 3 @ ZRQ) 2:39.80 4 BE ez () 24173
| R b g W53 s EHmh
5 BHW M (3) 2:53.76| 6 HE E (1) 3:11.86) 7 &l =5 () 3:13.40
N Mt B A M@ A
EEE %2 5/17 T#E HEE Q) T1:33.13] 2|ERIE ZER (2) 11:56. 70| 3 IUE EB1E Q) 12:27.90] 4R B2 Q) 12:28.69
3000m R b A/ AF SRR h @A
5/%M BZE(2) - 13:01. 67
SER
EEE %2 5/T7| 148 +2.7] 1 3 =& Q) 16.96] 2R W& 2 17.96] 3|=ta =) 18.65] 4 FIL E&L Q) 19.10
100mH (0. 762m) 25k R {EBAh N
5 AT BiEQ) 19.18] 6 =i % (2) 19.97| TH&EE BEQ) 20.55| 8 &t FF ) 21.00
| JEET A/ AF = i o M@ AR
EF #H0) - x5
H
2% 2. 2] 1K EEQ) 18.66] 2| == =A% ) 19.36] 3|F18 k&1 Q) 1959 4TI0E ;5% ) 20. 22
e B AL NS 28t
5 %% EEQ 20.22| 6 /hO EF Q) 20.30| 7= @HEA) 20.31| 8|86 K &/ () 21.19
JERT Bt B AR A H/ A K




B E ERHK264E58178 (1) FSvOER -F FE-EREE- [REB] -BERR (BF- [%xF])

fEt42 [20] B4 SBIEWAT/INhEERE LSRR ES 1-b [1420557] M9IEHIE SDEE—
BRiIgS BENAELREAE 1-F  [201020]  ER8RE4E . EEREH
IiE IiE IiE [
& H A/B| # | BiR |5 HmEES4 i B 8% |47 BRES i B8 |y  mpEd i B8 |y  mpEdA i 0 %
A 1.4 1 E& O Q) T6.66| 2 %iE B& Q) 18.59] 3 FH BE (2) 19. 73] 4 H &€ Q) 20. 33
| $hEE b BRIEES = i o JEET
5 % (2 20.97| 6[/NE ERE(Q2) 21.04] 7% F1= Q) 21.50] 8| F%H m& (M 22.21
JEET B N La F/ AW
7 0.0] 1580 Zi%&1E Q) 16.17| 2@k BAE= Q) 1862 3L BER) 1912 48R B @ 20. 22
BRIEES EHmh 28t F/ AW
5@ &9 Q) 20.25| 6|88 BE(Q) 20. 44| T#T E@m Q) 20.74| 8|k BE Q) 21.18
REFH Ak B AL JEET




FER FR2655A178 (1)

)L—%H -7 - ERE- [RB]

- BRE

(BF - [&F])

fEtHp42 [20] =4 FEIEMWAT /MR RE R RS -+ [1420557] MyEHERE FR{E—
BRI 4 RNy Ny N I-+  [201020] SEEE . LBHHE
g B B/8| # [ &L F—L4% Hi%‘%1 mEER 2 g4 3 mEER 4 i % s %

EEE % 5/17] 158 G BE e IEEYE] =O M@  BER E5Q) 5429
4x100m A ERATF A) §0 #A Q) =)l XK @3) ME EZ Q) ha FFQ) 55. 26
REA DN L #BE X0 E3H =M Q) U ENE) MO FIETE Q) 56. 52
AR S hEt & (2) =M &F1(3) RF BH Q) == EHELQ) 56. 95
5 5E =P (A) =B E50) WA HiE ) g F=HC Q) INE B2 58. 11
P A AO) - I0) =ik ¥ Q) 28 gmd) TE HrY @ 58.73
4S8 (B) B B Y7 Q) FiE BE(Q) A0 B2£(2) il Q) 59. 42
8:5/Kh (B) =& 50 *a% B (2) FRER 2T (1) A B2 1:00. 14
2% IEEEE FE 0HQ Bt (3) 113 8 (3) ZH =—Z%(3) 51. 74
2k HEG iR HEE(2) EPﬁ %5(3) =H B# Q) Fik |t (2) 52. 11
JEH+H IR BE Q) hEHLE Q) i #< (3) AR BHEQ) 54.23
LEELES FH #Q) #HE #% Q) WA EE Q) I% 2E0) 55. 02
5| 2%t (B) BE 0AMW IR HE Q) INEOEHD) EE RAEQ 55. 86
GEEAIES I B () T B2 B0 @®ibQ) o #BiE Q) 59.83
5D (B) #B BEd) ‘I ER ) BE =45 () FhE mie ) 1:01.27
3% ESSEN mA %= (3) EEIEIE) i EF1E (3) 3 EI16) 79. 61
2B K (A 25 20 Hi5 BK(3) ERK Fit (2) FE EQ) 55.13
315 () Nt EEQ) A i (3) Il 16)) JIE H#F Q) 56. 11
4= BTH & (3) hf BE(2) EITIEEJ6) L& #7%5H(3) 56. 25
5{EBAH (A) BE =#0Q) INE BER @) e 2= Q) 7R 10) 56. 79
6| REEEF R AR #H9FE(2) AR FE Q2 KE #HE (2 2A E(Q2 59.23
M E AT (B) B REREN) FE FQ il #E= () tE FFQ 1:00. 14
INERF 5/17 [ EERIS T=0 0N XA £E®6) Fik B = (0) XA =45 (6) XA &= ®) 59. 39
4% 100m A=F BE —Z=6) W EZE () EEEIO) INEA RE (6) 1:00. 69
JFEIND INBHEF (6) YR AELE (6) 2L EHE(6) ik A1 (6) 1:01.19
435K B) %E 5A 6) HE =5 6) e % (6) FH = (6) 1:01.69
5| MR AR/ 1RiE A (6) AR VEEIQ) #iE Zx(6) R 7B (6) 1:02. 63
6 BABA /I [fH XF6) TH EZF%®6) P ERRED) il SR (6) 1:04. 31
71888 /1 (A) it #E1E (5) Ff B (6) EEE Z(6) Rk HETE (6) 1:04. 40
8¥vy5937° 1K &FE () N0 BREG) SR mG) 2R BE(G) 1:06.13
;B 7K/ (A) FE fi(6) s E(6) #HEX HZ(6) 3 £ 10) 1:10. 44




BER TH26E58178 (L) Z74—ILFiEB - F |- ERE- [RE] -8 (BF - [%FD
fEt42 [20] B4 SBIEWAT/INhEERE LSRR ES 1-F  [1420557] BAEEHIE PR{E—
\ BESHE TRiE—
BRiIgS BENAELREAE -F  [201020] TEEEEERE: FEHEH
[ _ ] [ _ ] [ _ ] [ _ ]
& H A/B| # | BiR |5 HEESA i B8 |y mpEdA i B8 |y  mpEdA i B8 |y  mpEd i i %
NEAELT | 5/17 TEHF 55@ 2,89 2 B kHmED® 257 3 &R HED® 2. 49 4 B 2E @) 2.27
2Bk 11/ -0.3 Ay hEMA +0.2 Ay hEMA -0.6 Ay hEMA -0.5
NESELZF | 5/17 THF fBxO) T.05
= BRI/
NESELZF | 5/17 T ER % ®) 15.50
YIbE -Di% JBHET/IN
NE6&ELXT | 5/17 IEZEEI0) 362 2 KB £E®) KL EEEEYIO) 3.02
g gH/N -0.4 Ay HEHA +1.6 —F -1.0
2EF 5/17 1780 BEQ®) 1.35 2] EA () 1.35] 3| E38 Wm=Q3) 1.30[ 4@ & Q) 1.30
EEB {EBAH ERILED Bt B A A JERT
5 A HEiEQ) 1.25| 5|@E HHUY Q) 1.25| 5= =it () 1.25| 8/ Ei& #7454 Q) 1.25
e et KE)IlF = i o
glkH EE 2 1.25[10 /I ZEF (2 1.20[11 /88 £&H0 Q) 1.20[12JI15% %7 (@ 1.15
EHH EHH R JERT
13/8% Bk Q) 1.10|14 &7 kg (3) 1.05| 2% & Q) x5
Ak = JEET
EEE %2 5/17 THEA B=E Q) 507 2 &KL E5 Q) 184 3ERN £EEQ 4 63[ 4 %F ELQ) 455
TEE Bk 2E 4k +1.7 mEET +0.6 {EBAh +0. 4 ERILED +2.4
5 & ZEQ) 439 6 "E EE®Q) 4§34 T&E =££0) 4.22| 8#M@ & T2 411
(LD +1.9 Bt R +1.9 $REE o +0.8 SR +2.5
9| X1EE # Q) 4.10[10 TH#E =EQ) 406/11EE %5 0) 3.92(12 WA HE Q) 3.89
$hEE P +0.8 B +1.7 i g +0. 6 JERT -0.4
1378 BEQ) 3.85|14 H =41 (2 3.82|15 BsF Q) 3.81[16 158 =B (2) 3.68
{EBAH +1.7 Bt B A A -1.3 SR +0.9 (LD -2.2
17/3#2Z Hon Q2 3.66[18 & ZE(2) 3.63[19 ik FB#E () 3.60[20 T EA Q) 3.59
i g +0. 2 alodss -0.5 EHH -2.4 JERT +1.5
21=H AR 3.47(22 @il F=2 Q) 34723 =R &) 3.45\24 [ BEQ) 3.45
R +1.0 LD -1.8 N +0. 4 (LD -0.2
25 HIEE EM () 3.43(26 0 E HHY (2 3.25[27 A &2 3.07[28 E£5 B (1) 2.95
R +2.3 557K e +2.6 557K e -1.1 (LD -0. 1
29 Bl EBE(2) 2.92[30 =@ #&E () 2.67[31T &L f1E (M) 2,60 & &) sEEAL
elpdas -0.6 (30 ep +0.6 EE -2.0 i g
RE BF2) EHEAL| HBEEsE EQ R [HE FWRD A EIGXEC) x5
B AL JEET KE)$ B
EEE %2 5/17 T[ZH #% Q) 10.09| 2% 2F Q) 951 3 A& ==& (D 8 45| 4 ILK EX Q) 8.32
FaHh ik JERT $hEE P JERT 2E 4k
5 /NE AR Q) 8.20| 6 Ml =XOH Q) 8. 19| THE=E Q) 8. 18| 8 L& b (2) 8.10
| E8RF et NS R b
9 fRiE &k 8.04[10 T HHU (2 76911 £&E mE @ 7.67|12 % EK Q2 7.57
NS 28 EHmh NS
13FE &O) 7. 44|14 i EXE Q) 6.99|15 BE fxK (2 6.71|16 % &= (2 6.69
Bt R A 25k 557K e JERT
17/ 1lLE %% 3) 5.83[18 R F&() 5.58[19 £# —F% (2 5.46[20 =K =& (2) 5.21
28t NS M@ A P&
21/ KA B2 492|122 EIL BB Q) 448 Z=m ZE(Q) R [5HF BWRE) x5
g 133 e REFH F/ A




	F0702000
	決勝記録一覧表

	K0702  1400
	トラック記録表

	K0702  2400
	リレー記録表

	K0702  3400
	記録表


